
Australian Pump Industries Pty Ltd    |    7 Gladstone Road, Castle Hill NSW 2154    |    P: 02 8865 3500   |    F: 02 9894 4240    |      aussiepumps.com.au 

   GMP/DEC22/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Position 
Part  

Number Qty Description 
List  

price 

01a GP938 1 B4KQ-A BRONZE PUMP CASING   

01b GF715 1 VALVE BODY  B4KQ−A $1,034 

01c GF717 1 BRONZE FLANGE B4KQ−A $580 

01d GH011 1 CHECK VALVE  B4KQ−A $75 

01e G5393 1 FLANGE GASKET B3207 $17 

01f G6184 1 FLEX. WASHER 41x50x2 $7 

01g GH097 1 TAP AISI 316 1 1/4"G $166 

01h GF135 1 CONICAL TAP 1/4" GAS $22 

01i GF847 7 SCREW UNI 5739 M10x30 INOX $10 

01m G7942 1 ZINC NUT UNI 5923 M10x 1.5 $1 

01n   4 STAINLESS STEEL SCREW UNI 5923 M12 X 45   

02 G9807 1 BRONZE IMPELLER for B4KQ−A Mec 112 $1,390 

03 GL307 1 FLANGE SEAL HOLDER bronze, IEC 112−132 $679 

04 GL299 1 SUPPORT MOT.MEC 112 $679 

B4KQ-A/B WITH 4KW ELECTRIC MOTOR  

CAT EALE 

Position 
Part  

Number Qty Description 
List  

price 

05 G9821 1 EXTENS.SHAFT MEC100- 112 AISI 316 $1,111 

06 G6353 1 COUNTERFACE 27−50−10 in allumina $33 

07 GH397 1 MECH. SEAL 25−47−14 carbon/Nbr/Aisi 316 $69 

08 G6030 1 FLEX. GASKET B 2587 thick 1 mm. $12 

09 G7917 6 WASHER D.8x17x1.5 AISI 316   

10 G7674 6 INOX OEB SCREW M8x25 Inox A4 (AISI 316) $8 

11 GH848 1 WASHER D.12.5x30x5 $21 

12 GF476 1 LOCK NUT M12 UNI 7474 Inox A4 (AISI 316) $16 

13   4 NUT M12 UNI 5588  (AISI 316)   

14 GF848 1 KEY UNI 6604 6x6x20 Inox A4 (AISI 316) $12 

15 G6255 2 TCEI SCREW UNI 5931 M8x25 $2 

16 GP071 4 SCREW T.E. M14x40 UNI M14X40 - 

17 GF086 4 ZINC NUT M14 UNI 5588 - 

18 G6172 7 ZINC WASHER 10x21x2 UNI 6592 $1 

19 GL809 4 SCREW TUNI 5739 M10X35 $5 

20 GL342 1 BASE FOR MOTOR MEC 122 B3/B5 $133 

21 GS313 1 ELEC.MOTOR 4kW IE3 $2,803 


